
６ ６
５

なので ９
６ ６

９ ＝
６
５

５
③ と ９

６ ６

１
なので ８

２ ２ ２ ２

８ ＝
２
１

１
② と ８

２ ２

５ ７ ５ ３
なので １

４ ４ ４ ４

７
１ ＝ ＝

４ ４ ４
３ １×４＋３

日にち：　　　月　　　日

名まえ

５ ３
① と １

４ ４

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

(うすい字はなぞりましょう。)

④ 確認

４

19

19 17 19

61

61 59 61



６ ６

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

５
> なので > ９

６ ６

９ ＝ ＝
６ ６ ６
５ ９×６＋５

５
③ と ９

６ ６

１
＞ なので ＞ ８

２ ２ ２ ２

８ ＝ ＝
２ ２ ２
１ ８×２＋１

１
② と ８

２ ２

５ ７ ５ ３
＜ なので ＜ １

４ ４ ４ ４

７
１ ＝ ＝

４ ４ ４
３ １×４＋３

日にち：　　　月　　　日

名まえ

５ ３
① と １

４ ４

(うすい字はなぞりましょう。)

④ 確認 答え

４

19

19 17 19

61

61 59 61

17

59


